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A : Poetry

1. Answer any four of the following (two each
from Unit—I and Unit—II) : Ox4=36

UNIT—I

(@) . () Discuss how Robert Frog; reflects
a complex social ang philosophi

phical

theme through g rich debate on 2

seemingly simple topic in Mending
Wall.
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(2)

(W) Critically examine Wordsworth’s
treatment of childhood innocence
e :

31 59& and simplicity in We are Seyen.
v
v,

(#)
rh )
0 (ml._\\{\ttempt a critical appreciation of
' »| 1
g -';‘?,‘he poem, To the Indians Who Djed
/- 2in Africa.

“In many ways this ig 5 very Indian
poem in Indian English.»

Examine A Very Indign Poem in

Indian English in -
the ligh ;
it ght of this

(3)

(iii) “Wherever 1 hang my knickers
that’s my home.” Discuss how a
migrant woman adapts herself to
an alien land as expressed in

Wherever I Hang.

(iv) Examine how Koening of the River
invokes the colonial past of the
West Indies for a better future.

2. Answer, In short, any three of the following

[taking at least one from (a) and (b) each] :
3x3=9

(@) () Explain how the speaker’s tone

changes as he acknowledges the

merit of the young girl’s belief in

UNIT—]] We are Seven.

®) () Crit: ii) How does the speaker in Mending
ftically  appreciate th & i
Ballag of ol € poem, Wall react to the notion that
e

andlord, “Good  fences make  good

(i) “The Wi neighbours™?

e’s Tale offers
a
Perspectiye fori L feminine (iii) What do you understand by the
Examine e " term ‘Indian English’ in the light of
€ comme t PPrOPriateness of the poem, A Very Indian Poem in
Indian English?
—20* /52
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(4 (5)
(b) () What is a ballad? . 1 () What does the word ‘koening’ mean?
(g9 Which country does Seamus Heaney
(i) ‘What do you. understand by ' represent in The Wife’s Tale?
- ;colonialism? Explain in the licht of ' . , .
the poem, Koening Of:the Rivger 'l (h) What does %knickers’ suggest in the

] poem, Wherever I Hang?
L . A

(iij) How does. thé Speaker in Wherever

I :Hang feel as she leaves her L B : One-Act Play
~ homeland? j
UNIT—III
3. Answer any five of the following questions in | 4. Answer the following in brief : 1x3=3
brief : | A %55 .

(a) “May youvnever darken my door again!”
. Ve T Ue in b . * Who said this:?
n We g e Seven‘?' I ad‘ 'c‘lress g ?

ey e

. (b) Who/What is Otkatai?

(b) What was the majoj . - r ’ 2 daughter.”
‘ -major literary pri, «pAsk for the hand of a daughter.

Robert Frogt won Prize that (c) )

four timeg? What does this expression mean?

(c) What does' the i
e ‘Flve River ’ . :
" To the Ingj, 'S mean in r, in short, any two of the following :
d ' - -
(d) ry Was the speaker in Ballgg of th (@) How does Lomov justify his decision to
ndlord sen; 4, jailp ad of the marry Natalia?

(&) Who Wrote the pog (p) “He’s come to borrow money! I won't

g Poem i, ian Englig? A Very Indian give him any!” What makes the speaker
o think so? Was he correct?
P15—20+/59
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g

(6)

“Bring him back?” Who says this and
why?

A

6. (@) Answer any one of the following :

()

(i)

Consider how 2

(ii1)

" the

P15— 90+ /52

Consider A Marrigge Proposal as
a co'mefiy that represents rural
Russian life and people as they
a're, complex and at the same time
simple.

A

It i en:
Is said that Chekhov was more

intere i
| Sted in sociq) issues than

politics.”

) Marrig l
usti . Mdrmage Proposa
: N tlﬁ.e ® such ay Observation.

!

“A Marriage Pr,

Oposql o
O‘ E .. r t
t ) educes pl

and jts ending is

interrypg
Conclusiop_» PHon than 2

Examin
A Marri: the plot structure of
9¢ Proposal in the light of

above observatj on

( Continued

(9

(i)
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(7)

(b) Answer any one of the following :

“Now the domestic joys have
begun—champagne!” Explain with
reference to the context.

Examine how ownership of land is
central to the socio-economic life of
rural Russia as expressed in the
play, A Marriage Proposal

* %k *
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